## Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills register			844.	Date - site bills Register		oills				
	mpany Name:	M	RMLLP.		Site:				G. M.R	
Name of Contractor			.Tirupa	thi.						
Nat	ure of work			orks					1	
Wor	rk done	From	n Date			,	To Date			Contractor
SI. No.	Villa/Flat/block n	0.	Qty.	Rate		Units	Am			Contractors bill no
1.	Brick work.		1920	13		SFT			60.	
2.	Door frames		7	15	0	Nois			50_	
3.	Ventelatore	S'	7	10	0	1,017			00_	
4.	Kalai fini hin	91	300	14		SET		-	200	
5.								30	,910	
6.									1	-
7.										
8.									1	
9.										
10.							1	•	910.	
11.	T	otal:			CCT	hill ra		0	□ YES	<b>₹NO.</b>
Bill required			S PNO.					Enclosed		
leasu	rement &	Re	quired	mea		Measurement & estimate sheet:			□ Not enclosed	
	te sheet:	□ No	Not required		PO/WO date:					
)/W(	O no.							1		
mark	s: Jaho	W _	quar	LOM		000	XX_	D	one	•
		Action of the Control								
									d	by M.D.
pproved by Project Manager			Appro	Approved by Design Team			am	Approved by M.D.		
	LQ		Date:		_			Da	ite:	
te:	1 di		Sign:					Sig	gn:	
n:			Sign.	mletine	work.	. This f	orm can	be u	sed for ce	rtifying labour

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bill for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement she not required for turnkey jobs where guideline rates are clearly given.

MEASUR	EMENT SHEET						-	
Company	NMRMLLP					Approved by:	Ra	m Prasad
Project:	Gulmohar Resi	dency				Sign:		
Work De	sciLabour Quarter	rs in C,B Blocks						
Contracto	or G Tirupati							
Prepared	B Srinivas N							
Date:	12.10.21							
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head	Total
1	Brick Work at (		1120.00	Sft	13.00	14,560		
	Brick Work at B	Blocks	800.00	Sft	13.00	10,400		
	Door Frames		7.00	Sft	150.00	1,050		
	Ventilators		7.00	Sft	100.00	700		
	Kalai Finishing	flooring	300.00	Sft	14.00	4,200		
						30,910		

MEASUREMENT SH	HEET				1			
Company Name:	MRMLLP					Approved b	y: P	Ram Prasad
Project:	Gulmohar Residency					Sign:		
Work Description:	Labour Quarters in C,B I	Blocks						
Contractor Name:			1					-
Prepared By	Srinivas N			,				-
Date:	28.12.21							
			Α	В	С	D	E= AxBxCxE	
No.	Item Head	Item Description	Length	Width	Height	Nos	200	Units
1	Labour Quarters	In C- Block	40.00	1.00	8.00	2.00	640.00	Sft
	in C block		10.00	1.00	8.00	6.00	480.00	Sft
							1120.00	
	Door Frames	Fixing	1.00	1.00	1.00	4.00	4.00	No's
	Ventilators	Fixing	1.00	1.00	1.00	4.00	4.00	No's
	Under B Block	in B - Block	30.00	1.00	8.00	2.00	480.00	
		III D DICCK	10.00	1.00	8.00	4.00	320.00	
				+			800.00	
	Door Frames	Fixing	1.00	1.00	1.00	3.00	3.00	No's
	Ventilators		1.00	1.00	1.00	3.00	3.00	No's
		Fixing	10.00			3.00	300.00	O Sft
	Flooring	Kalai Finishing	10.00	10.00				
								-

## **Allowance for Consumables**

G Tirupati. Mallapur Hyderabad

Date: 28.12.2021

In favor of:

MR Mallapur LLP

**Project / Site:** 

Gulmohar Residency

Location:

Mallapur

Type of Work:

Labour Quarters Brick Work & Flooring.

Towards:

Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Towards Labour	D ( 192 /
	quarters Brick work & Flooring work.	Rs.6,182 /-
	Total Amount = 30910 /-	
	Work done from date 05.06.21 to date 21.10.21.	

Amount in words: Six Thousand One Hundred Eighty Two Rupees Only.

Sign:	

## Bill for Labour Charges

G Tirupati. Mallapur Hyderabad

Date: 28.12.2021

In favor of:

MR Mallapur LLP

**Project / Site:** 

Gulmohar Residency

Location:

Mallapur

Type of Work:

Labour Quarters Brick Work & Flooring.

**Towards:** 

Allowance for Equipment.

S No.	Description	Amount
1.	Brief description of work done: Towards Labour quarters Brick work & Flooring work.	Rs.12364 /-
	Total Amount = 30910 /- Work done from date 05.06.21 to date 21.10.21.	

Amount in words: Twelve Thousand Three Hundred Sixty Four Rupees Only.

Sign:	

## Bill for Equipment Allowance

G Tirupati. Mallapur Hyderabad

Date: 28.12.2021

In favor of:

MR Mallapur LLP

**Project / Site:** 

Gulmohar Residency

Location:

Mallapur

Type of Work:

Labour Quarters Brick Work & Flooring.

Towards: Allowance for Equipment.

S No.	Description	Amount
1.	Brief description of work done: Towards Labour quarters Brick work & Flooring work.	Rs.12364 /-
	Total Amount = 30910 /- Work done from date 05.06.21 to date 21.10.21.	

Amount in words: Twelve Thousand Three Hundred Sixty Four Rupees Only.

Sign:		_